( Mega2.2 )
U 3 , Grammar

A)-Choose the right answer :

1= My S0UD I8 ......ccconivivs s NOT 1O drink .
a- too -b- enough -c- because
2 - T have enough balance to ....................... a hew ticket.

a - buys -b- buying -c- buy

a - tall white French -b- white French tall  -c- French tall white
4 - They are speaking loudly .........ccccooevvrnmeririnns .
a- too -b- enough

B)- Do as shown between brackets :

1-French / table / coffee / small / 18™-century /a. ( Rearrange )

2- new / watched / He / American / movie / a.

3- He was driving fast .

4- The house is clean .
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